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Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

[Roll No. : www.GovtJobsAlert.In
[Registration No.

[Name : MD EHSAN

[Exam Venue : iON Digital Zone iDZ Baruipur
[Exam Time : 9:00 AM - 10:30 AM

[Exam Date : 21/02/2019

Section : General Section

Q.1 The statements below are followsd by two conclusions labeled I and I Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely

follow(s) from the information given in the statements.
Statements:
1) Some stores are rooms.

2) Some rooms are posters.

Conclusion:
T Some rooms are stores.
IL: Some posters are rooms.

Ans 3 1. Only conclusion I follows.

v 2 Both conclusions follow.
/< 3. Only conclusion II follows.

< 4. Neither conclusion I nor conclusion IT follows.

Question ID : 9895803989
Chosen Option : 3

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
Initial : Final : : Mourn : ?
Ans X 1. Recall
/X 2. Recap
/< 3. Murmur
+ 4 Rejoice

Question ID : 9895803981
Chosen Option : 4

Q-3 Select the option that will correctly replace the question mark (?) in the series.

0,8,24,48,7

Ans X 1. 81
X 2 87
X 3 89
v 2 80

Question ID : 9895803990
Chosen Option : 1
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Q.4 Select the option that is related to the third number in the same way as the second number is related to the first number.
12:180::14:?
Ans x 1. 144
X2 221
X 3 169

v 4 238
Question ID : 9895803992
Chosen Option : 4
Q.5 Choose the option that most closely resembles the mirror image of the given word if the mirror is placed at the right
side.
HOMAGE
Ans
v 1 3DAMOH
< 2. HOWAGCE
X 3. 3DAMOH
< 4 JOANOH
Question ID : 9895803999
Chosen Option : 1
Q_G The statements below are followed by two conclusions labeled T and II. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.
Statements:
1) All customers are clients.
2) All clients are medicines.
Conclusion:
I. Some medicines are customers.
II. Some medicines are clients.
Ans X 1. FEither conclusion I or conclusion II follows.
v 2. Both conelusions follow.
< 3. Only conclusion II follows.
< 4. Only conclusion I follows.
Question ID : 9895803988
Chosen Option : 2
Q.7 Ina certain code, VIROLOGY is written as LOGYVIRO. How will SEMANTIC be written in that code?
Ans o 1. NTICSEMA
X 2. CITNAMES
X 3. NTICSEMA
X 4 NTICSEMA
Question ID : 9895803983
Chosen Option : 1

Q.8 There is only one ranway which will be used by seven flights one by one. P and Q will use the runway neither first nor
last. S will use it second after R. M will use it second before O. N will use it after O and before R. Q will use it just
before S. Who will use the runway in the middle?
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Ans X' 1. (Q
v 2N
X3P
X4 Q

Question ID : 9895803987
Chosen Option : 2

Q9 Choose the odd one out of the given options.
Ans o 1 silicon

/X 2. Magnesium

/X 3. Tungsten

& 4 Aurum

Question ID : 9895803979
Chosen Option : 3

%1 Choose the odd one out of the given options.

Ans X 1. RGD
X 2 HIL
X 3. EKM
W 4 QSC

Question ID : 9895803978
Chosen Option : 1

Q.1 Eight friends A, B, C, D, E. F. H and G are sitting around a circular table facing each other for a group discussion. A is
1 opposite F and second to the right of E. G is between C and A. H is to the left of E. Who is sitting to the immediate left
of A?

Ans X 1. Either G orD
X2 B
X3 C
v 4 Either B orD

Question ID : 9895803986
Chosen Option : 3

Q.1 Seven friends O, P. Q. R. S. T and U are watching a cricket match sitting in a stadium. P is sitting at one extreme end. T
2 s sitting between Q and U, and R is sitting to the immediate right of § and immediate left of Q. U is sitting second to
the left of P. Who is sitting between U and P?

Ans X 1 R
vz 0
X3S
<4 Q

Question ID : 9895803985
Chosen Option : 3
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Choose the option that would follow next in the given figure series.

L 2zl A\

A B

>
v o3 —
O

D E

Ans

Question ID : 9895803996
Chosen Option : 4

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
4
AC:CI::GH:?

Ans Xl- Uy
v 2 UX
X3 Uu
X4 UV

Question ID : 9895803982
Chosen Option : 4

Q.1 In a certain code, OPTIMIST is written as 121. How will PESSIMIST be written in that code?
5

Ans of 1129
X 2 105
X 3 131
X4 127

Question ID : 9895803984
Chosen Option : 2

Qél Select the option that will correctly replace the question mark (7) in the series.

PRL, QPM, RNN, SLO, ?
Ans X 1. TIO

X 2. TKP

v 3 TIP
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X
=

Question ID : 9895803977
Chosen Option : 3

Q7'1 Select the Venn diagram that best represents the given set of classes.

Animals, Mammals, Deer

Ans

K3

Question ID : 9895804001
Chosen Option : 1

©BR0

%! Choose the odd number out of the given options.

Ans X 1. 151
X 2 163
X 3 157
v 2 161

Question ID : 9895803993
Chosen Option : 3

Q.1 Select a figure from amongst the four alternatives, that when placed in the blank space (?) of figure X will complete the
9  pattern. (Rotation is not allowed).

Ans
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Question ID : 9895803997
Chosen Option : 3

de Find out the two signs to be interchanged to make the following equation correct.
18+3x27-9+-3=78

Ans of 1 +and x

X2 +and+
X3 -and+
X 4 +and-

Question ID : 9895803995
Chosen Option : 3

Qiz Select the option that will correctly replace the question mark (?) in the series.

12,22, 42,82, 7
Ans X1 172

X 2 182

X 3 152

v 162

Question ID : 9895803991
Chosen Option : 4

Q2-2 Select the option that will correctly replace the question mark (?) in the given pattern.

(27 (1) 2
OJONORONONO

Ans (1. 6
X224
<336
X 48

Question ID : 9895803994
Chosen Option : 1

Q.2 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
3 along the dotted line?

O
il
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Ans

b

Question ID : 9895804000
Chosen Option : 1

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
4
Blend : Mix : : Request : ?

Ans X 1. Deny
/X 2. Noting
v 2 Solicit
X 4. Accept

Question ID : 9895803980
Chosen Option : 4

Q.2 select a figure from amongst the four alternatives, that when placad in the blank space (?) of figure X will complete the
5  pattern. (Rotation is not allowed).

=N

X

x B

Ans

. &

Question ID : 9895803998
Chosen Option : 4

Qéz Which of the following statements about the Indus Valley Civilization is NOT true?
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Ans X 1.

It was an urban civilisation where people lived in well planned towns
+ 2. Animal meat was the staple food
F 3

It flourished around 2500 BC in the present day Pakistan and Western India
/< 4. The houses were made of baked bricks

Question ID : 9895806381
Chosen Option : 4

2 - - :
22 Dry Ice is the solid form of:

Ans X 1. methane
v 2 carbon dioxide
/5 3. oxXygen
/5 4. ozone

Question ID : 9895806390
Chosen Option : 4

%2 Timur invaded India during the reign of:
Ans - X 1. Akbar
X 2. Alauddin Khilji
/< 3. Feroz Shah Tughlaq
' 2 Nasir-ud-Din Mahmud Shah Tughlug

Question ID : 9895806382
Chosen Option : 3

%2 Who wrote the book “War and Peace’?
Ans X 1. Vladimir Lenin

' 2. Leo Tolstoy

X 3. Karl Marx

/< 4. Anton Chekhoy

Question ID : 9895806400
Chosen Option : 2

Q.3 India has won 8 Olympic gold medals for field hockey. When was the last time India won a gold medal for hockey in
0 Olympics?

Ans X' 1.1976
X 21984
X 31988
v 2 1980

Question ID : 9895806401
Chosen Option : 2

23 Which of the following statements is NOT true about angiosperms?

Ans
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/< 1. They have stems, leaves and roots

' 2. Conifers, Cycads and Ginkgo are examples of angiosperms
/< 3. They have to undergo pollination before they can reproduce
/< 4. The flowers carry the reproductive organs

Question ID : 9895806389
Chosen Option : 3

Qé3 The economic survey is usually presented ~ before the Union Budget.
Ans of 1] day

X< 2. 15 days

X 3. 7 days

X 4. 2 days

Question ID : 9895806396
Chosen Option : 3

Q?;3 Gita Gopinath became the first woman to occupy the position of Chief Economist of:

Ans X" 1. World Trade Organisation

X 2. UNESCO
& 3. World Bank
« 2. International Monetary Fund

Question ID : 9895806398
Chosen Option : 1

Qf The holy place of the Jains, Shravanabelagola is situated in which district of Karnataka?

Ans 1. Shimoga District
/< 2. Bellary District
< 3. Mysore District
v 4. Hassan District

Question ID : 9895806405
Chosen Option : 2

Q.3 The Government of India releases MSP of agricultural produce from time to time. What is the full form of MSP?
5

Ans 1. Minimum Selling Price
' 2. Minimum Support Price
< 3. Maximum Selling Price
< 4. Maximum Support Price

Question ID : 9895806397
Chosen Option : 3

Qés Golconda Fort was built in the 13 century by the Dynasty.

Ans
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v i Kakatiya

X 2. Chola
/< 3. Periyar
/< 4. Chalukya

Question ID : 9895806404
Chosen Option : 4

23 In the context of climate, what is the full form of ITCZ?
Ans 1. Indian Trough Conversation Zone

« 2. Inter Tropical Convergence Zone

/< 3. Intra Temperate Control Zone

/< 4. Islandic Tropical Climate Zone

Question ID : 9895806386
Chosen Option : 2

Q8-3 The Indian athlete Dutee Chand is associated to which of the following sporting events?

Ans (1. Shotput
& 2. Javelin
/X 3. Jumping
« 2. Sprinting

Question ID : 9895806399
Chosen Option : 2

Qé3 A special property of acids and bases is their ability to each other’s properties.

Ans X1 Crystalize
v 2. Neutralize
& 3. Amortize
X 4. Naturalize

Question ID : 9895806387
Chosen Option : 2

Q.4 According to the report published by the World Health Organization (WHO) in 2017, approximately how many people
0 inthe world do NOT have access to safe drinking water at home?

Ans X 1. 4.2 billion
< 2. 900 million
< 3. 500 million
v 4 2.1 billion

Question ID : 9895806391
Chosen Option : 4

Q4 “Kuchipudi’ derives its roots from:
Ans X 1. Kerala
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¥ 2. Andhra Pradesh

X 3. Puducherry
& 4. Tamil Nadu

Question ID : 9895806403
Chosen Option : 4

Q.4 Swachh Bharat Abhiyan was launched by the government of India on the birth anniversary of:
2

Ans o 1. Mahatma Gandhi
< 2. Vallabhbhai Patel
& 3. Jawaharlal Nehru
X 4. Atal Bihari Vajpayee

Question ID : 9895806388
Chosen Option : 2

Q.4 The Constitution of India came into force on 26 January 1950. Which act or governing document did it replace?
3

Ans X 1. Government of India Act, 1858
« 2. Government of India Act, 1935
/< 3. Indian Councils Act. 1892
/< 4. Regulating Act, 1773

Question ID : 9895806392
Chosen Option : 3

Q.4 The parliament has powers to amend the provisions of the Constitution of India. Which article of the constitution
4  confers this power on the parliament?

Ans X1 Article 1
< 2. Article 256
X 3. Article 55
v 4 Article 368

Question ID : 9895806394
Chosen Option : 2

Q&';4 The first major nationwide Satyagraha launched by Mahatma Gandhi was against:
Ans o 1 Rowlatt Act

X 2. Partition of Bengal

/< 3. Tax on Khadi products

X 4 Salt tax

Question ID : 9895806383
Chosen Option : 1

Q.4 Which of the following is NOT true about the ‘Protection of Women from Domestic Violence Act, 2005°?
6

Ans 3 1. Injury can be physical, emotional or economic.

« 2. Tt also applies to violence at workplace.
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K3

It applies in case of injury or harm or threat of injury or harm by the adult male member of the household.

X 4

The term ‘Domestic’ includes all women who live or have lived in a shared household with the accused male member.

Question ID : 9895806393
Chosen Option : 2

24 The host country for 2022 FIFA World Cup is:
Ans X 1. Japan

X 2. Germany

/< 3. France

« 4. Qatar

Question ID : 9895806402
Chosen Option : 3

%4 *Slash and burn’ type of farming is also known as:
Ans o 1 shifting farming

& 2. intensive subsistence farming

X 3. extensive farming

/< 4. commercial farming

Question ID : 9895806384
Chosen Option : 2

Q§4 What is the monthly salary of the President of India as per 2018 Budget?

Ans X 1. 4 lakhs
X 2. 2 lakhs
v 2 5 lakhs
X 4. 3 lakhs

Question ID : 9895806395
Chosen Option : 1

Q0'5 ‘Which of the following is NOT a method of soil conservation?
Ans 1. Intercropping

/& 2. Mulching

< 3. Contour Ploughing

' 2 Weathering

Question ID : 9895806385
Chosen Option : 2

Q.5 A sector is cut from a circle of diameter 42 cm. If the angle of the sector is 150° then what is its area in em?.
1
(Take 1w = 22/j,-)
Ans X1 584.8

v 2 5775
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X 3. 564.6

X 4. 580.4

Question ID : 9895806296
Chosen Option : 3

Q.5 The present ages of A and B are in the ratio 15 : 8. After 8 years their ages will be in the ratio 17 : 10. What will be the
2 ratio of ages of A and B after 10 years from now?

Ans X'1.10:7
X2 8:5
vas5:3
XaT7:4

Question ID : 9895806291
Chosen Option : 4

Q_5 A circus tent is cylindrical to a height of 3 meters and conical above it. If the radius of the base is 52.5 m and the slant
3 height of the cone is 52m, then the total area of the canvas required to make it is:

Ans X1 30487
v 2 30451
X3 27307
X4 28427

Question ID : 9895806297
Chosen Option : 3

Q5 Tphe compound interest on a sum of ¥ 24500 at 10% p.a for 2 2 years interest compounded yearly is:
4 5

Ans X 1. T 6338.40
X2 T 6342
v 2 T 6330.80
X 4 T 6340

Question ID : 9895806294
Chosen Option : 1

Q.5 Study the following table, which shows the number of units of a product manufactured and sold by a company in five
5 years, and answer questions.

Years Number of units (in | sold
thousands)
Manufactured
2013 350 320
2014 375 315
2015 300 280
2016 450 423
2017 420 360

‘What percent of total units of the product manufactured in 2013 and 2015 is the total units unsold during the five years?
(correct to one decimal place)

Ans X1 30.8

v'2 303

X3 206

X4 204

Question ID : 9895806303
Chosen Option : 3

Q5
6
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Study the following table, which shows the number of units of a product manufactured and sold by a company in five
years, and answer questions.

Years Number of units (in | sold
thousands)
Manufactured
2013 350 320
2014 375 315
2015 300 280
2016 450 423
2017 420 360

The ratio of the total number of units sold in 2014 and 2015 to the number of units manufactured in 2017 is:

Ans of 1 17:12
X2 19:14
X39:8
X4 14:17

Question ID : 9895806304
Chosen Option : 3

Q_,-5 The value of 1.6+ 1.6 0f 1.6 + 0.6 of 1.4 = 0.5 —0.001 x 1.5 + 0.075 lies between:

Ans X1 2.4 and 2.6
X2 26and2.8
V'3 22and2.4
X4 2and2.2

[

(]

Question ID : 9895806283
Chosen Option : 2

Q.5 The average of 10 numbers is 41, The average of first 3 numbers is 30.4 and the average of last 4 humbers is 43.5. 4t
8 umber is 2 more than the 5% mumber and 0.2 more than the 6™ number. What is the average of the 4t and 6™ numbers

Ans X 1. 38.7
X 2 389
X 3 306
v 2 3909

Question ID : 9895806285
Chosen Option : 1

Q.5 The average age of 24 students in‘a class is 15.5 years. The age of their teacher is 28 years more than the average of all
9 twenty five. What is the age of the teacher in years?

. T
: 2
v 44s

a 1
x4 42

Ans

Question ID : 9895806284
Chosen Option : 4

Q.6 If 12, x, 8 and 14 are in proportion, then what is the mean proportional between (x — 12) and (x + 4)?
0

Ans xl_ 12
F A
X316
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v 15

Question ID : 9895806290
Chosen Option : 1

Q.6 A 280 m long train is running at 108 kmv/hr. In how much time will it cross a bridge of length 170 m?
1

Ans X110 sec
v 2. 15 sec
X 3. 16 sec
X 412 sec

Question ID : 9895806300
Chosen Option : 2

Q.6 A shopkeepers profit was 16% of the sale of his goods. If the price at which he buys decreases by 20% while he reduces
2  his selling price by 23%, what is now his percentage of profit? (correct to one decimal place)

Ans of 1. 14.6
X2 154
K3 149
X 4 15.8

Question ID : 9895806287
Chosen Option : 3

Qée The largest sphere is carved out of a cube of side 7 cm. What is the volume of the sphere in e’ (Takem = 22/7 )

Ans “1. 1,792

1

?(2.182;

1

x 3. 1?9;

2

?(4.1825

Question ID : 9895806298
Chosen Option : 2

Q.6 Two vessels A and B contain solution of acid and water. In A and B the ratio of acid and waterare 7: 3 and 4 : 1,
4 respectively. They are mixed in the ration 1 : 2. What is the ratio of acid and water in the resulting solution?

Ans X'1.15:8
X216:7
V3 23:7
X4 25:9

Question ID : 9895806292
Chosen Option : 1

Q.6 Let x be the least multiple of 29 which when divided by 20, 21, 22. 24 and 28 then the remainders are 13, 14, 15, 17 and
5 21 respectively. What is the sum of digits of x?

Ans xl- 18
X222
<319
v 23
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Question ID : 9895806281
Chosen Option : 3

Q.6 Atwhat percentage above the cost price must an article be marked so as to gain 38% after allowing a customer a
6 discount of 8% on the marked price?

Ans xl_ 48
X2 46
v 3 50
X 4 45

Question ID : 9895806286
Chosen Option : 2

Q.6 The numbers 6. 8, 11, 12, 2x - 8, 2x + 10, 35, 41, 42, 50 are written in ascending order. If their median is 25, then what
7  is the mean of the numbers?

Ans X1 248
X2 246
3 255
X 4 25,

Question ID : 9895806295
Chosen Option : 3

Q.6 A takes 6 hours more than B to cover a distance of 60 km. But if A doubles his speed, he takes 3 hours less than B to
8 cover the same distance. The speed (in km/hr) of A is:

Ans fl. 3;

- 2
X2 4;

X3 4
X45

Question ID : 9895806299
Chosen Option : 4

Q.6 Asumof¥ 1518 is divided among A, B. and €, such that A receives 20% more than B and B receives 20% less than C.
9  What is the share of C in the sum?

Ans X 1. ¥ 528
X 2 T 440
vz T 550
X4 ZTs572

Question ID : 9895806289
Chosen Option : 1

Q.7 study the following table. which shows the number of units of a product manufactured and sold by a company in five
0 years, and answer questions.

Years Number of units (in | sold
thousands)
Manufactured
2013 350 320
2014 375 315
2015 300 280
2016 450 423
2017 420 360

In which year the number of units of the product sold is 19000 more than the average number of units manufactured per
year?

Ans X' 1. 2016
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X 2. 2015
v 3 2017
X 4. 2014

Question ID : 9895806305
Chosen Option : 2

Q.7 The simple interest on a certain sum is 11 g% of the sum and the number of years is equal to the rate percent per annum.

What will be the simple interest on a sum of T 12600 at the same rate for 2:— years?

Ans X 1 T 1216
X2 T 1224
v 31176
X4 T 1164

Question ID : 9895806293
Chosen Option : 4

Q.7 Acan complete 2 ofaworkin g days. B can complete 2 of the same work in 12 days and C can complete 2 of the same
2 work in 8 days. A and B worked together for 5 days. How much time (in days) will C alone take to complete the
remaining work?

Ans “1. 6
: 1
X 2 ?E
: )|
X 3 8E
K49

Question ID : 9895806302
Chosen Option : 3

Q.7 The ratios of efficiencies of A and B of doing a certain werk is 5 : 8. Working together they can complete the work in 20
3 days, A alone will complete 25% of that work in:

Ans X1 14 days
< 2. 12 days
/< 3. 11 days
W 2 13 days

Question ID : 9895806301
Chosen Option : 2

Q.7 If 20% more would be gained by selling an article for T 93 than selling it for ¥ 85, then the cost price of the article is:
4

Ans X 1 T 64
v 2 T40
X3 T56
X 4 T 60
Question ID : 9895806288
Chosen Option : 2
7
Qs Revile o s S W g o T iR oY
& 2 10 5 2 3 3 15 5
Ans
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Question ID : 9895806282
Chosen Option : 2

Section : English Language

Q1 Select the antonym of the given word.

GRANT

Ans of 1 Refuse
/< 2. Approve
X 3. Reject

X 4 Sanction

Question ID : 9895806066
Chosen Option : 4

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence: If there is no need to
substitute it, select No improvement.

A team of doctors is focusing over treatment of cancer at an early age.

Ans (1. is focusing onto treatment of cancer
v 2 is focusing on treatment of cancer
/< 3. No improvement

/< 4. is focusing in treatment of cancer

Question ID : 9895806055
Chosen Option : 4

Q.3 From the given options, identify the segment in the sentence which contains the grammatical error.
As a painter he are good if not better than Suresh.
Ans  of 1. he are good
X 2. than Suresh
< 3. if not better
/< 4. As a painter

Question ID : 9895806052
Chosen Option : 1

Q.4 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

He have been working on and off for two years to complete a book.

Ans X1 has work
X 2. have worked
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/< 3. No improvement

+ 2 has been working

Question ID : 9895806053
Chosen Option : 2

Q3 Select the word which means the same as the group of words given.

One who makes an eloquent public speech
Ans X 1. Leader
X 2. Debater
X 3. Speaker
v+ Orator

Question ID : 9895806070
Chosen Option :.1

Q.6 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

Would you mind help me with these questions?

Ans o 1 Would vou mind helping
< 2. Would you mind for helping
< 3. No improvement

/< 2. Would you mind to help

Question ID : 9895806054
Chosen Option : 4

Q7 Select the word which means the same as the group of words given.

The absence of government in a country
Ans X" 1. Bureaucracy
' 2. Anarchy
/X 3. Autocracy
/X 4. Democracy

Question ID : 9895806071
Chosen Option : 4

Q8 Select the option that means the same as the given idiom.

In black and white
Ans  of 1. In writing

X 2. In colour
< 3. Scanned
/< 4. Photocopied

Question ID : 9895806068
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In 1893, Lokmanya Tilak converted the Ganapati festival (1)
a national celebration. He campaigned for (2) wide
celebration of this public festival throughout Maharashtra.

It was (3) this festival that he (4) mobilise public
support for the nationalist (5)
SubQuestion No : 9

Q9 Select the most appropriate option that will fill in
the blank number I.

Ans X1 with
+ 2. into
&< 3 for
X 4 to

Question ID : 9895806059
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In 1893, Lokmanya Tilak converted the Ganapati festival (1)
a national celebration. He campaigned for (2) wide
celebration of this public festival throughout Maharashtra.

It was (3) this festival that he (4) mobilise public
support for the nationalist (5)

SubQuestion No : 10

le Select the most appropriate option that will fill in
the blank number 2.

Ans xl_ 3
/< 2. some
v 3 the
< 4. one

Question ID : 9895806060
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In 1893, Lokmanya Tilak converted the Ganapati festival (1)
a national celebration. He campaigned for (2) wide
celebration of this public festival throughout Maharashtra.

It was (3) this festival that he (4) mobilise public
support for the nationalist (5)

SubQuestion No : 11
Q.1
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Select the most appropriate option that will fill in
the blank number 3.

Ans X1 with
v 2 through
< 3. without
7< 4. throughout

1

Question ID : 9895806061
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In 1893, Lokmanya Tilak converted the Ganapati festival (1)
a national celebration. He campaigned for (2) wide
celebration of this public festival throughout Maharashtra.

It was (3) this festival that he (4) mobilise public
support for the nationalist (5)
SubQuestion No : 12

Qz'l Select the most appropriate option that will fill in
the blank number 4.

Ans X 1. may
/5 2. can
23 will
v 4 could

Question ID : 9895806062
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

In 1893, Lokmanya Tilak converted the Ganapati festival (1)
a national celebration. He campaigned for (2) wide
celebration of this public festival throughout Maharashtra.

It was (3) this festival that he (4) mobilise public
support for the nationalist (5)

SubQuestion No : 13

Qél Select the most appropriate option that will fill in
the blank number 5.

Ans o 1 movement
< 2 term
X 3. season
X 4. festival

Question ID : 9895806063
Chosen Option : 3

Q.1
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Select the most appropriate option to fill n the blank.

‘Discovery of India’ by Jawaharlal Nehru.

Ans X' 1. have been written
& 2. has written
2. has been written

/< 4. have written

Question ID : 9895806057
Chosen Option : 2

% Select the correctly spelt word.
Ans X 1. Aquaintance

/< 2. Acquantance

v 2 Acquaintance

X 4. Acquaintence

Question ID : 9895806072
Chosen Option : 2

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
6

When I asked for directions, he gave me many wrong informations.
Ans X 1. When I asked
# 2. for directions
' 2 wrong informations

/5 4. gave me many

Question ID : 9895806051
Chosen Option : 2

Q1 i
-~ Select the synonym of the given word.

ZENITH

Ans  of 1. Peak
< 2. Border
X 3. Brink
X 4. Edge

Question ID : 9895806065
Chosen Option : 3

Qél Select the option that means the same as the given idiom.

Hit the nail on the head
Ans  of 1. Accurately right

/< 2. Hit the nail exactly

& 3. Use hammer and nail
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X 4 Use some tools

Question ID : 9895806069
Chosen Option : 1

Q1 ;
5 Select the synonym of the given word.

RESISTANCE
Ans 1. Approval

X 2. Recognition

v 3 Refusal

< 4. Enthusiasm

Question ID : 9895806064
Chosen Option : 3

%2 Select the antonym of the given word.

HUMILITY

Ans X1 Cruelty
/< 2. Shyness
/< 3. Obedience
' 2 Modesty

Question ID : 9895806067
Chosen Option : 3

Q.2 Select the most appropriate option to fill in the blank.

1
One should be careful to check the grease and oilin __~ car occasionally for it’s smooth functioning.
Ans "1 ones
X 2. their
& 3 our
v 4 one’s

Question ID : 9895806056
Chosen Option : 2

Q-2 From the given options, identify the segment in the sentence which contains the grammatical error.
2

Is the older person always more wiser than the younger one?

Ans X1 s the
v 2. more wiser

< 3. older person always

/< 4. than the younger one?

Question ID : 9895806050
Chosen Option : 2

Q.2 Select the most appropriate word to fill in the blank.
3

Many tourists to India visit the beautiful valley of Kashmir in spring and summer.

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In
Ans (1. generally

/< 2. rarely
' 2. especially
X 4. frequently

Question ID : 9895806074
Chosen Option : 3

Q‘iZ Select the most appropriate word to fill in the blank.
Our society is by the evil of corruption; the integrity of even senior officials is disputed.
Ans - X1 indicated
v 2 endangered
X 3. specified

X 4 identified

Question ID : 9895806075
Chosen Option : 4

%2 Select the correctly spelt word.
Ans o 1. Millennium

/< 2. Milennium

/< 3. Millenniam

< 4. Millenium

Question ID : 9895806073
Chosen Option : 4

Section : Hindi Language

Ol B T Ty F BT UE oes S

STy I
Ans fl. m

X2 |

FASER: ~ ry

K 4 AT

Question ID : 9895806046
Chosen Option : --

®* e T @ s & T 3UgE e F TS HL

O3 W IR I8 L
Ans “1. 3T

X2 g
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X fr
X4 e

Question ID : 9895806032
Chosen Option : --

Q3 r=fofae & ¥ 37 Fey & 907 S N 7% § 87 & Jg =1 3 7w T 8
Ans of | AT FILAT

Question ID : 9895806044
Chosen Option : --

O B AT e F WIS o T TAT F

EAE)

Ans X1 FitoT
X 2. 3r
v Far
X4 HET

Question ID : 9895806043
Chosen Option : --

Q5 farrfaftr # & 30 ey @1 T St S T GoT AT WA TR T 3 Tuw a
Ans o B G

X 2 X T Gehell

X 3 HOST gl &deh RISTHE LT

v 4 gHETeT ST

Question ID : 9895806045
Chosen Option : --

0 B Ty Ty F BT T o S

SEA Fs EE
A X 1 e

X 2 g

v faricE

X FHEE
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Question ID : 9895806047
Chosen Option : --

7 mEr I3 AT o T T
Ans o 1 IS

K2 S
Ko A
X o T

By By

Question ID : 9895806049
Chosen Option : --

Comprehension:
ol sy & Rea wuet & T ez & J= o
T FeAT F HJAR Hifare-
¢ Shae & wefr &9 A7 sl (1) & FA=
T &1 FATT AR 9y AT F g F5 AR ¢ A 79 7@ B
AT H W9 & (2) g §1 98 $8HA g
AT FIT ¢ T 5H (3) & 3w w I &
TR & FER SR (4) & A H g1 HRA=
sfagT # v e 39T A Fver G (5) &
T 39 @aeT g= w2 e
SubQuestion No : 8

e F gl Reg == (1) F B
IUYFT A AT

Ans X1. q‘?l'

Xz.;qn?ﬁ'
v gy
X st

Question ID : 9895806035
Chosen Option : --

Comprehension:
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fafofaa wearyr & Rea = & 9fa @@ & 5= o
AT FIAT F HFAR Hifore-
oferes Sfraer & welt &8 #s7 3 (1) v& wA=
FAE ATT AR Ty A F AR IS m t A Aw A
AU A REER E _ (2) & §| 9SS e
T FAAT &1 TY 5T (3) ¥ 3T ® I &
IR df FANT HRAT (4) & 7F # gl s
sfgT & 00 3% 3aET A Fve S (5) &
fore 3rvar waET = ¢ feam
SubQuestion No : 9

sz F TafaT Reg T (2) ¥ v
3UgFT AT B

Ans  of 1 HTEAT
X2 OFg
X 3 ot
< 4 Ul

Question ID : 9895806036
Chosen Option : --

Comprehension:

frafof@a wearyr & Rea e @ 9 ez & 39 o
T JeAT F HJAR Hifore-
e S F wfr s A it (1) v& §A
H g1 AT AR 99 A=A F AfG FY 3R E A a7 TG
AT § WoeR & (2) @6 ¥ 9% 56 e
FIT A gl T SH_ () F IR w I &
TR §ART SRAET (4) & 7 H gl s
ST A s R eI SR . (B) F
T 39 are a= w2 e
SubQuestion No : 10

S et F gafag feg = (3) ¥ fRw
3UgFT AT B

Ans oC 1. R
v g®
X3 @
X 4 S

Question ID : 9895806037
Chosen Option : --

Comprehension:
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frafofaa ey & Rea et & 9fd @@ & 3= fr
AT JeAT F AN Hioe-

&ferer Slaet & @l & Aqsg 3R (1) v& FA
o & AT AR Iy A F g FE HR T O 79 7@ R
AT # @USER & (2) A 1 9F SHH I
ST FIAT gl Y FH (3) & =T | a3 £
TR AR SRAT (4) F #q H | AT
sfogmm & 0 39 3o B Feer G (5) &
T 3var T9r aF &= feam
SubQuestion No : 11

% e & EFfaT few T @) F B
3UgFT AT B

Ans ?{ 1 ' ﬁ_'
W 2. TFdP
X3 T
54 %TI'UT

Question ID : 9895806038
Chosen Option : --

Comprehension:
fr=fafaa ey & fea wuet & 9fa s & a9 o
AT FoAT F AN HiSC-
oferr dfasr & weft &8 7 3R (1) TF TAA
T g1 AT 3R 99 A 7 A FE R g A 79 T F
AT H W9 & . (2) g §1 9F ST G
AT HIAT g1 TY 5H (3) ¥ IRg w I3 &
RITHFR ar A SR (4) % A # | A=
sfoEm & 00 Fas 3T B Seer S (5) F
T 319 o a= ¢ e
SubQuestion No : 12

%! s F EHET R T (65) & fBw
3UYFT A ET

Ans .?{l-?:EﬁaT
X 2 o e
A3 AIER
v o g

Question ID : 9895806039
Chosen Option : --
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% fow o e # faee o=

e

Ans Xl- m
X2 gfae

X3 e

v 4 deRdet

Question ID : 9895806041
Chosen Option : --

QL frw a1 a3 @itk W H SRS FE % B S R &1 T #)
SH WHT AR 8§ HGACHS THAT H HGTH

At X1 sw wET gAY ot @

V2 TH HT gAY A W

X3 TH AT gAN A &

X 4 TH WAT TAL 20T

Question ID : 9895806029
Chosen Option : --

%' BT aw A w1 9 s A9 S e A oI

AT H T 92 3T &, FHEY O v o gehew 7
Ane KL et 7@ T

v gam & oty

X 3 gam o & st

X o T g

Question ID : 9895806024
Chosen Option : --

% fow ow e # faee T4

3e=del
Ans  f 1 ==
X2 F=5
X 3. guraeft
X4.F{ﬁ’-’|ﬁ'

Question ID : 9895806040
Chosen Option : --
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% R T e F T 3uged oeg & w9 #

e T E?
Ans Xlﬁﬂ'

<2

X @A

v fFEa

Question ID : 9895806033
Chosen Option : --

Qélmmmﬁmﬁmmaﬁqﬁmnﬁ?ma:ﬁvsﬂmﬁmmmﬁl

T TR F1_fHes 5T T &
K AR e
X2 9iR # e
X3 iR ¥ e
v TR F e

Question ID : 9895806027
Chosen Option : --

% fow oTw are @ 3 AT A9 S SR F8 I

eI H A T3S TTHA S 35T TS
Ans 91 et

v FErer &

X 3. offer 3T

X 4 3% WHA

Question ID : 9895806025
Chosen Option : --

U wEr a3 I 4R FT TIT H

Ans o 1 TR

X 2 afar

A = aifErr

K 4. T

Question ID : 9895806048
Chosen Option : --

Q.2
1
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T 71T oeg ¥ TUIOETEY 9E & TAS HYI

HqoT

o

Ans x 1. qsr

X2 g
o 3 U

Y

X 4 3T

Question ID : 9895806042
Chosen Option : --

Q2 fow aTC @ T A T WG HE EA B I R
HUAT el T 3T g wereh, Y o gt & Wiy 3eR @ gAwr ol
A XL R o gEtt & wiY 3ER @

X2 gAr g7 &
V'3 9T g9
X 4 Y =0T TET T,

Question ID : 9895806026
Chosen Option : --

% Rea T # oRe F T sugEd e S 9T

FETCHT Tedy gl
s X1 aeTardy

X 2 FHeqae

X 3. e

v el

Question ID : 9895806031
Chosen Option : --

Q2 fx e arw  Yaifee @ A SRERE w0 ¥ B 39 R a1 @ w
farell & PR W AR i gEE o weh ¥
A L g o TS E
X 2 ZE o T E
X s g off = E
X o g o T E

Question ID : 9895806028
Chosen Option : --
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% Ra e o ¥ e suged oeg & w9 #

WF_ HEIT g
Ans (l. ‘_\qmﬁ_

X 2 3ET

X 5 gam

X4 BT

Question ID : 9895806030
Chosen Option : --
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